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4. &GD5<=O E ?D>F<6>446?5=<5< < D57G?<DG5<O< >F5>D>< ?4D4. 
5. &GD5<=O E 46G<O D57G?<DG5<O<< >F5>D4<< ?4D4. 
6. &GD5<=O E 46G<O >F>?<F5?L=O<< >F5>D4<< ?4D4. 
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- >E=>6=O5 F<>?O 6OD45>F>< M=5D7<<; 
- =><5=>?4FGDG >E=>6=>7> < 6E?><>74F5?L=>7> >5>DG4>64=<O F5??>6OE 
M?5>FD>EF4=F<=; 
- ?D<=F<?O D45>FO M=5D75F<G5E>>7> >5>DG4>64=<O.  

'<5FL: 
- D4EEG<FO64FL M>>=><<G=>EFL F<>?>6, M=5D75F<G5E><5 ?>>474F5?<, 
E4D4>F5D<EF<>< >E=>6=>7> < 6E?><>74F5?L=>7> >5>DG4>64=<O M=5D75F<G5E><E 
GEF4=>6>>. 
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>F5=<64NFEO ?> 100-54??L=>= L>4?5. 
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?D54=47=4G5==O= 4?O >>=45=E4F<< >FD45>F46L57> ?4D4 6 FGD5<=5 ?D< 
446?5=<<: 

4) ?D><76>?L=>< 

5) =<7>>< 

6) 6OE>>>< 

7)  ED54=5< 
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6E>45 6 FGD5<=G i1=3380>�6/>7. &5>D5F<G5E>>5 7=4G5=<5 M=F4?L?<< ?4D4 i2F= 

2020>�6/>7. �?D545?<FL D4EE>4 ?4D4 =4 FGD5<=G D F/G E GG5F>< D54?L=OE 
?4D4<5FD>6 ?>E?5 D4EL<D5=<O ?4D4 6 FGD5<=5,  5E?< 55 6=GFD5==<= 
>F=>E<F5?L=O= >?4 ·oi=0,92. 
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